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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2022

ECOACORO08T-EcoNnoMICs (CCS8)

INTERMEDIATE MICROECONOMICS-II
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. afes I a0E wAG Q"Y/VW fact FC 1
Candidates should answer in their own words AT TS ST I AT TN N
and adhere to the word limit as practicable. e PEE

1. Answer any five questions from the following: 2x5=10

T @-CFieat #fpfe elvex Tex wiss
(a) What is dominant strategy?

LSIHN (FHIeT FICEF T 2
(b) Define Nash equilibrium.
T SIS FResl e |
(¢) What is Cartel?
FICoeT = 9
(d) Why demand for input is called ‘derived demand’?
TABIE HIfRICE TGS HifEwl T 2 (A 2
(e) Differentiate between firm’s demand and industry demand for inputs.
TeAAMCeTa Tl (0T FFICHe BifRwl @ Micsm bifewia =iigfs e
(f) Give two examples of externality in consumption.
(S CF0q Ao 7o Snizze wie |

(g) How in a perfectly competitive market Value Marginal Product of Labour
(VMPL) and Marginal Revenue Product of Labour (MRPL) are related?

A efsife ATIE AGR 2AfeF TesimeTa To (VMPL) @R #7 2ifes =i
TeoMeTd (MRPL) @3 SC& o510 e 9

(h) In a two-person, two commodity economy, define the contract curve for
consumption.

72 &, 72 T3y 377/ SLTI0s (SIR (F0T contract Gl FICF 0T 9

2. Answer any four questions from the following: 5%4 =20

fsEe @-@iet 51Ff6 2tia Teq wies

(a) Explain the monopolistic and monopsonistic exploitation of labour.

TR GFCH O] FIRAG TS (<110l 8 Tqo (A5 eIFel-a= Li=eN 7ib i T |
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Show that the elasticity of supply of an input governs the level of rent.
e I THAMICTR QIslicTd FEfeg=mela $v@ Aemia »/feed fea s
Explain Prisoner’s dilemma.

A R e T e

Differentiate between rent and quasi-rent.

el 6 SI- el e AL Tl |

Explain the concept of excess capacity of a firm under monopolistic
competition.

GO ASRIISIETF AR T Tge Foid ARelB 41 T |

Answer any two questions from the following:
fasfeie @-ce 7 et Teq wies

Critically examine the ‘Product exhaustion’ theorem.
T IR Oglh FANCABCRA ROl (TS 215 el |

Explain the role of trade union to increase employment and / or wage rate in an
imperfectly competitive market.

35 Svp-aferaifor A i ke Feim e g / w121l Tgae 29 Ireice
AN, S SN FCE |

Consider a duopoly market, where each firm operates zero cost. The demand
function of the product is X = 120 — P.

(i)  Find the price and output of each firm under Cournot’s frame work.

(i) Find the level of price output if the two firms are involved in tacit
collusion.

@ AF, @0 TR IASIE TAVE X1 AGIE T HIRw S 28-

X =120-P.

(i) FCIR NCCCE TR SRE) Wi @ T 2Ifistiel 6 203 9

(i) T wrf g6 STPpHiie @RIPE’ SEPIE 531 O@ AGIE SRPI) Wi 8
TR IRl [ 207 9

Explain the price and output determination in a model with a dominant firm and
a competitive fringe.

a3 T A 2T T 8 PR APRAFIA TG TAWE (B! AP Foid 7w @
Tesive i Prals (ew 2@ AT, ©f [ F!

N.B. : Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of examination within
1 hour after end of exam. University / College authorities will not be held responsible
for wrong submission (at in proper address). Students are strongly advised not to submit
multiple copies of the same answer script.
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